
1

Z50B.1   



2

Z50B.1  
               

2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19

20

21
22
23
24
25
26
27
28

G128Gle

Z50B.1-3
Z50B.1.9A
GB5780-86
GB93-87
GB/T97.2-1985
GB6170-85
ZBJ15001-87

GB/T6173-1986
GB6171-86
Z50B.1.6-1
Z50B.1.6.1
Z50B.1.6.2
Z50B.1.6-6
Z50B.1-13
Z50B.1-2

YT-100
GB6170-86
GB5781-86
GB/T93-1987
Z50B.1.20
GB6172-86
Z30.1A.1
Z50B.1.21

 M14×35
 14
 14
 M14
 d70

 M14×1.5 ZnD
 M14×1.5 ZnD

 – 

 M6
 M6×20  ZnD
 6

1
1
1
1
6
6
14
2
8
1
1
8
8
4
4
4
4
8
2

2

1
3
3
5
1
2
2
1



3

 M6



4

Z50B.1.1  



5

Z50B.1.1  
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18

JB1002-77
JB999-77
Z50B.1.1
Z50B.1-14
JB/T7757.2-1995
Z50B.1-4
07056-18416
Q/CHL02.049-1999
CA-10
GB5781-86
GB93-87
GB/97.2-85
Z50B.1-5
Z50B.1-6
Z50B.1.7
Z50B.1-4
Z50B.1.5
GB5782-86

 14
 M14 × 1.5 × 32

 S10 2650/600

 24

 M10×20
 10
 10

 M24×50

4
2
1
1
1
1
1
3
1
26
26
26
1
4
2
2
2
4



6

Z50E.2F  



7

Z50E.2F  
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50E.4F
JB1002-77
Z30.2M.1-1
GB1235-76
JB1885-77
GB1235-76
Z50B.2.5-3
Z50B.2.5-2
JB/T8870-1999
Z50B.2.5-1
GB1235-76
Z50B.2.4-1
JB1002-77
Z30.2M.4-1
Z50E.2F.1.1
Z30.2.7A-2
Z30.2M.5-1
JB1885-77
Z50E.2.1
JB1885-77
JB1002-77
Z30.2.6-2
Z30.2M.2.1
Z50B.2.7B
JB/T8870-1999
Z50B.2.8-1
Z50E.2.3
GB1235-76
Z50E.2F.4.1
Z50E.2F.5.1

  18

 16×2.4
 13I-740

 24×2.4

 d32
19×3300

 11×1.9

 27

 19 -780

 19I-2700
 30

 d50
25×680

 35×3.5

1
2
1
2
1
4
2
1
4
1
1
1
4
1
1
2
2
2
1
1
2
2
1
1
2
1
1
2
1
1



8

Z50E.2F   
               

31
32
33
34
35
36
37
38
39
40
41
42
43
44

GB70-85
GB93-87
GB70-85
Z50B.2.9-1
JB1002-77
Z50B.2.9-2
JB/T8870-1999
Z50B.2.9-3
Z50B.2-1
GB5782-86
GB93-87
Z30.2M.2.1

GS-50B

 M10×40
 10
 M10×25

 20
16×1300

 d32

 M12×45
 12

G128Gle       G128Gle

4
8
4
1
1
1
2
1
1
1
1
2
1
1



9

Z50E.2F.1  



10

Z50E.2F.1  
               

1
2
3
4
5
6

Z50E.2F.1
Z50E.2F.1
Z50E.2F.1
Z50E.2F.1
Z50E.2F.1
Z50E.2F.1

1
1
1
1
1
1



11

Z50E.2F.1



12

Z50E.2F.1
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z30.2.3-30
JB1002-77
Z30.2.3.2-3
Z30.2.3.2-2
Z30.2.3.2-4
Z30.2.3.2-1
Z30.2.3-31
GB70-85
GB93-87
JB1000-77
JB1002-77
Z30.2.3.1-2
Z30.2.3-29
Z30.2.3.1-1
Z30.2.3.1-4
Z30.2.3.1-3
Z50E.2.1-1
GB5782-86
Z50B.2.1-38
Z50B.2.1-22
GB93-87
GB6170-86
GB5782-86
Z50B.2.1-34
Z30.4.16-3
GB895-76
Z30.4.16.1
GB1235-76
Z30.4.16-2
Z30.4.16-1

 24

 M10×70
 10
 M8×1
 8

 M12×45

 12
 M12
 M12×35

 40

 40×3.5

4
2
1
1
1
1
1
6
6
1
1
1
1
1
1
1
1
6
1
1
24
6
6
1
1
1
1
1
1
1



13

31
32
33

JB1002-77
GB1235-76
GB825-88

 30
 30×3.1 O-ring

 M12

1
2
1



14

Z50E.2F.1



15

Z50E.2F.1
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

GB70-85
Z50B.2.1-6
GB119-86
GB5783-86
Z50B.2.1-12
GB93-87
Z50B.2.1-37
Z50B.2.1-39
GB894.1-86
GB276-89
GB70-85
Z50B.2.1-15
Z50B.2.1-14
Z50B.2.1-5
Z50B.2.1-13
Z50B.2.1-11
Z50B.2.1-10
Z30.2.3-12
GB276-89
GB893.1-86
GB894.1-86
GB9877.1-98
Z50B.2.1-7
Z50B.2.1-8
JB1002-77
GB70-85
Z50B.2.1-20
GB894.1-86
GB277-89
GB305-64

 M8×25

 8×16
 M8×25

 8

 160×3.1
 85
 D117
 M6×12

 211
 100
 55
 FB55×80×12

 12
 M12×70

 52
 50308

 90

6
2
4
16
1
16
8
1
1
2
10
1
1
1
2
1
1

1

1
1
1
1
1
1
8
8
1
1
1
1



16

31
32
33

Z30.2.3-34
GB119-86
GB5782-86

 6×16
 M12×45

1
1
1



17

Z50E.2F.1



18

Z50E.2F.1
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17

GB5782-86
GB93-87
Z50B.2.1-32
GB119-86
Z50B.2.1-25
Z50B.2.1-24
Z50B.2.1-21
GB70-85
Z50B.2.1-19
Z50B.2.1-17
Z50B.2.1-18
Z50B.2.1-35
Z50B.2.1-16
Z50B.2.1-36
GB93-87
GB5783-86
Z50B.2.1-5

 M10×12
 10

 10×20
    Shaft

 M10×1×60

 8
 M8×25

8
8
2
2
1
1
1
12
1
1
1
1
1
12
24
24
1



19

Z50E.2F.1
Z50E.2F.1



20

Z50E.2F.1 Z50E.2F.1

               

1
2
3

4

5

6

7

8

9

10
11
12
13

14
15
16

GB5785-86
GB93-87
GB893.1-86

GB276-89

Z50B.2.1-28
Z50B.2.1-4
Z50B.2.1-27
Z30.2.3-43L
Z50B.2.1-30
Z50E.2.1-2
GB893.1-86

GB9877.1-98

Z50B.2.1-31
Z50B.2.1-33
Z50B.2.1-26
CBGj2063/1016-XF
CBGj3100
GB6170-86
GB93-87
GB901-88

 M10×1×32
 10
 80
 72 
 208
 207

78
70

 FB55×85×12
 FB50×80×12

 M12
 12

 M12×95
 M12×55

2
2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
1
1
8
8
4
4



21

Z50E.2F.1



22

Z50E.2F.1
               

1
2
3
4
5
6
7
8
9
10
11
12
13

GB5785-86
GB93-87
GB893.1-86
GB276-89
Z50B.2.1-4
Z30.2.3-43L
Z50B.2.1-3
GB893.1-86
GB9877.1-98
Z50B.2.1-2
CBG1A045

GB901-88
GB93-87

 M10×1
 10
 72
 207

  70
 FB50×80×12

 M14×55
 14

1
1
1
1
1
1
1
1
1
1
1
2
2



23

Z50E.2.3    



24

Z50E.2.3    
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14

Z30.2.8-7
JB1002-77
Z30.2.8-6
Z30.2.8-5
Z50E.2.3-1
Z30.2.8-3
XU-B80×100
Z30.2.8-2
Z30.2.8-1
GB1235-76
Z30.2.8-4
Z30.2.8.1
JB1002-77
JB1000-77

 30

 105×5.7

  8
  M8×1

1
1
1
1
1
1
1
1
1
1
1
1
1
1



25

Z50B.3     



26

Z50B.3    
               

1
2
3

4
5
6
7
8
9
10
11
12

EQ140-2201C-026

804705K2

GB1152-74
Z30.3B-1
EQ140-2201D-052
EQ140-2201C-031
Z30.3B.2
GB889-86
GB97.1-86
Z50B.3.1
Z50B.3-1

 M10×1

 M14×1.5 ZnD
 14  ZnD

 M14×1.5×45

8
8
8

4
2
2
2
2
8
8
1
8



27

Z50E.4F  



28

Z50E.4F  
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

GB1235-76
Z30.4.21-4
GB1235-76
GB91-86
GB6178-86
Z30.4.21-12
Z30.14.8.3-3
Z30.14.8.3-2
Z30.4.21-1
Z30.4.21-3
Z30.4.21-10
Z30.4.21-5
Z30.4.21-8
GB93-87
GB5781-86
Z30.4.21-6
Z30.4.21-7
GB1235-76
GB93-87
GB5781-86
Z30.4.16-3
GB895.1-86
Z30.4.16-1
GB1235-76
Z30.4.16-2
Z30.4.16-1
JB1002-77
Z50B.4.6-1
JB1002-77
Z50B.4.15.1

 25×2.4

 45×3.5
 2×26

 M10

 8
 M8×25 ZnD

 90×3.1
 10
 M10×35 ZnD

 40

 40×3.5

 30

 27

1
1
1
1
1
2
15
4
1
1
1
1
1
7
4
1
1
1
32
28
1
1
1
1
1
1
2
1
6
3



29

31
32
33
34

Z50B.4.15-2
JB/T8870-1999
Z50B.4.9
Z30.4.17-3

16×26×450
 d32

1
6
1
3

Z50E.4F  
               



30

35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67

Z50B.4.15-1
Z50B.4.9-2
JB1002-77
GB825-88
Z50E.4A-1B
Z50E.4-4
Z50E.4-3
GB118-86
Z50B.4.16-1
Z50B.4.16.1
Z50B.4.16-2
JB/T8870-1999
Z50B.4.16-4
GB5781-86
Z50B.4.16-3
GB41-86
GB93-87
GB97.1-86
Q/CL1202.12
JB1002-77
Z30.2M.4-1
GB97.2-85
GB5782-86
Z50B.4.15-4
GB6175-86
GB93-87
Z50B.4.15-3
Z50B.4-5
Z50B.4-6
GB5780-86
JB1002-77
JB1001-77
GB5782-86

 22
 M20

 A12×35

 d40

 M6×16 ZnD
25×35×1000

 M6 ZnD
 6
 6 ZnD

 M30×1.5
 30

 8
 M8×50 ZnD

16×26×780
 M20
 20

16×26×600

 M10×30
 24 ZnD
 M24×1.5 ZnD
 M20×80 ZnD

1
1
1
2
1
1
1
2
1
1
1
2
1
2
1
2
2
2
1
1
1
3
3
1
4
4
1
1
1
4
1
1
4



31

Z50E.4.1   



32

Z50E.4.1   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16

JB/ZQ3749-8
6
Z50B.4.1-6
Z50B.4.1A-1
GB5781-86
GB1235-76
GB93-87
Z50B.4.1-2
Z50B.4.1-3
GB9877.1-98
GB297-89
Z50E.4.1-1L
GB894.1-86
Z50B.4.1A-2
Z50E.4E.1-5
GB9459-86
GB91-86

 M24×1.5

 M10×30 ZnD
 65×5.7

 10

 FB75×100×12B
 7512

 82

 M24×1.5
 5×45

2
2
1
12
2
12
2
2
2
2
1
1
1
1
1
1



33

Z50E.4.2  



34

Z50E.4.2  
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50B.4.2-1
Z50B.4.2-19
GB894.1-86
GB276-89
Z50B.4.2-2
Z20E.4.2-1A
Z50B.4.2-25
GB276-86
Z50E.4.2-2
Z50B.4.2-14
Z50B.4.2-11
Z50B.4.2-26
Z50B.4.2-7
Z50B.4.2-8
Z50B.4.2-15
Z50B.4.2-12
Z50B.4.2-23
Z50B.4.2-24
Z50B.4.2-13
Z50B.4.2-5
Z50B.4.2-10
Z50B.4.2-9
GB5781-86
GB93-87
Z50B.4.2-22
Z50B.4.2-21
Z30.4.1-19
GB78-85
Z50B.4.2-16
GB276-89

 55
 311

 113

 M10×30 ZnD
 10

 M12×12

 112

1
2
2
2
1
1
1
2
1
1
4
1
20
18
36
2
8
2
1
1
8
8
12
12
1
1
4
2
1
1



35

31
32
33
34

Z50E.4.2-3
GB276-89
Z50B.4.2-18
Z50B.4.2-20

 111
1
1
1
1



36

Z50E.4.3   



37

Z50E.4.3   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50B.4.2-1
GB894.1-86
GB276-89
Z50B.4.2-2
Z50B.4.3A-2
Z50B.4.3-2
GB276-89
Z50E.4.3-2
Z50B.4.2-14
Z50B.4.2-6
Z50E.4.3-5
GB5781-86
GB93-87
Z50B.4.2-11
Z50B.4.3-5
Z50B.4.3-4
Z50B.4.2-7
Z50B.4.2-8
Z50B.4.2-15
Z50B.4.2-12
Z50B.4.2-23
Z50B.4.2-24
Z50E.4.3-3
Z50B.4.2-10
Z50B.4.2-9
Z30.4.1-19
GB78-85
Z50E.4.3-4
Z50B.4.2-191
Z50B.4.3-7

 55
 311

 113

 M10×30 ZnD
 10

 M12×12

1
2
1
1
1
1
2
1
1
1
1
12
12
3
1
1
14
13
26
1
4
1
1
4
4
2
1
1

1



38

31 GB276-89  411 1



39

Z50E.4.4   



40

Z50E.4.4   
               

1
2
3
4
5
6
7
8
9
10
11
12

GB5781-85
GB93-87
Z50B.4.4A-5
Z50B.4.4A-4
GB894.1-86
GB276-89
Z50B.4.4A-3
Z50E.4.4-2
Z50B.4.4-4
Z50B.4.4A-1
Z50E.4.4-1
Z50B.4.4-7

 M10×30 ZnD
 10

 311

12
12
2

2
2
1
1
1
1
1
1



41

Z50B.4.5B   



42

Z50B.4.5B   
               

1
2
3
4
5
6
7
8
9

GB5781-85
GB93-87
Z50B.4.5A-1
GB1235-76
Z50B.4.5B-1
GB893.1-86
GB276-89
Z50B.4.5A-3
Z50B.4.5A-4

 M8×25 ZnD
 8

 45×3.1

 72
 207

2
2
1
1
1
2
2
1
1



43

Z50E.4A.1  



44

Z50E.4A.1  
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50B.4.6-1
Z50B.4.1-3
GB894.1-86
GB276-89
Z50B.4.6-3
GB276-89
Z50E.4A.1-1
GB276-89
Z50B.4.2-16
Z50B.4.2-11
Z50B.4.2-22
Z50B.4.2-7
Z50B.4.2-8
Z50B.4.2-15
Z50B.4.2-12
Z50B.4.2-23
Z50B.4.2-24
Z50B.4.6-5
Z50B.4.6-9
Z50B.4.2-10
Z50B.4.2-9
GB5781-86
GB93-87
GB78-85
Z30.4.1-19
Z50B.4.6-8
Z50E.4.5-1
GB276-89
Z50B.4.6-7
GB9877.1-98

 50
 310

 110

 112

 M10×30 ZnD
 10
 M12×12

 111

 FB50×70×12B

1

3
2
1
1
1
2
2
4
2
14
12
24
2
8
2
1
1
8
8
12
12
2
4
1
1
1
1
1



45

31 Z50B.4.6-10 1



46

Z50E.4F.1   



47

Z50E.4F.1   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21

GB5782-86
GB93-87
GB97.2-85
Z50B.4.7.1
Z30.4.13
Z50E.4F.2-1
JB1885-77
GB1235-76
GB1002-77
GB5782-86
GB93-87
JB1885-77
JB1885-77
GB1235-76
Z50E.4F.1-1
JB1000-77
JB1885-77
JB1885-77
JB2099-77
JB981-77
Z50B.4.12-1

 M10×110 ZnD
 10
 10 ZnD

 8I-800
 O  11×1.9

 16
 M8×50 ZnD
 8

 8I-510
 8I-540

 22×2.4

 M16×1.5 ZnD
 8I-510
 8I-400

 10
 M16×1.5

3
3
3
1
1
10
1
11
12
4
4
1
1
1
1
2
1
1
1
1
1



48

Z50B.4.7.1   



49

Z50B.4.7.1   
               

1
2
3
4
5

6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24

Z30.4.12-12
GB1235-76
Z30.4.12-11
Z30.4.12-10
Z50B.4.7.1-1
Z50B.4.7.1-2
Z30.4.12-9
GB1235-76
GB1235-76
Z30.4.12-7
Z30.4.12-6
Z30.4.12-13
GB1235-76
Z30.4.12-3
GB1235-76
Z30.4.12-2
Z30.4.12-4
Z30.4.12-1

Z30.4.12-14
Z30.4.12-15
Z30.4.12-16
GB1235-76
Z30.4.12-5
GB1235-76

 25×2.4

 16×2.4
 A12×1.25

 35×3.5

 30×3.1

 Z1/8”×12

 22×2.4

 20×2.4

5
6
5
5
2
3
5
11
11
3
3
1
1
1
2
1
1
1
2
1
1
1
2
2
6



50

Z30.4.13   



51

Z30.4.13   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

29

GB893.1-86
GB9877.1-98
Z30.4.13-5
JB1002-77
Z30.4.13-1
GB1235-76
Z30.4.13-6
Z30.4.13-7
Z30.4.13-4
GB1235-76
Z30.4.13-12
Z30.4.13-13
Z30.4.13-10
GB1235-76
Z30.4.13-9
Z30.4.13-15
Z30.4.13-8
Z30.4.13-16
Z30.4.13-11
Z30.4.13-14
Z30.4.13-17
Z30.4.13-18
JB1000-17
Z30.4.13-3
Z30.4.13-2
GB308-89
Z30.4.13-20
GB79-86

Z30.4.13-21

 30
 FB18×30×10

 18

 20×2.4
 18

 30×3.1

 11×1.9

 18×1.5 ZnD

 8

3
3
1
2
1
6
3
1
1
1
1
1
2
3
1
1
1
1
1
1
1
1
1
1
1
8
2
1

2
2
1
1



52

30
31
32

Z30.4.13-22
Z30.4.13-19
Z30.4.13-23

 M10 × 12



53

Z50B.5C   



54

Z50B.5C   
               

1
2
3
4
5
6
7
8
9
10
11

Z50B.5C.1
GB5785-86
GB93-87
GB5785-86
Z50B.5C-1
GB9877.1-98
GB276-82
Z50B.5C-3
GB1152-79
Z50B.5C-2
GB6171-86

 M12×1.5×110
 12
 M12×1.25×55-10.9

 B65×90×10B
 311

 M10×1

 M12×1.5

1
3
11
8
1
2
1
1
1
1
3



55

Z50B.6A               



56

Z50B.8A           



57

Z50B.6A               Z50B.8A            

               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50B.6-7
Z50B.6-6
GB308-4
Z50B.6-14
Z50B.6-1A
Z50B.6-17
Z50B.6-13
Z50B.6-12
GB309-84
Z50B.6-11
Z50B.6-10
GB119-86
GB984.1-86
Z50B.6-8
GB119-86
Z50B.6-5
Z50B.6-4
Z50B.6-9
GB5780-86
GB93-87
Z50B.6A-26
GB9877.1-98
JB1000-77
Z50B.6-16
JB/T982-1977
Z50B.6-15
GB93-87
Z30.6-31
GB70-85
GB93-87

10

 5×50

 A5×25
 52

 5×10

 M12×30 ZnD
 12

 FB150×180×16B  

 M27×2

 27

 24
 M24×1.5
 M10×20
 10

4
4
12
12
4
4
24
12
372

4
4
4
4
8
4
4
4
24
24
4
4
8
40
8
40
12
12
4
4



58

Z50B.6A               Z50B.8A      

               

31
32
33
34
35
36
37
38
39
40
41
42
43
44

45
46
47
48

49

50
51

52

NJ-130
Z50B.6-2
GB/T297-1994
Z50B.6A-19A
GB93-87
Z50B.6-18
GB/T297-1994
GB5782-86
GB93-87
GB119-86
Z50B.6A-20
JB/ZQ3756-86
GB/T5782-1986
Z50B.6-3B
Z50B.8-4
GB119-86
Z50B.6-22
JB/ZQ3756-86
Z50B.6-28
Z50B.8-3
Z50B.6-23
Z50B.8-1
GB827-86
Z50B.6-24
Z50B.8-2
Z50B.6-25

 32221

 20
 M20×1.5-6H
 32024
 M14×40 ZnD
 14

 A12×35

 16
 M16×50 ZnD

) 

) 

 16×50

 20

 2×5

2
4
4
4
40
40
4
28
28
4
4
48
48
2
2
4

30
22
30
22

2
2
1
1
8
1
1
2



59

Z50B.6.1A/Z50B.8.1A 



60

Z50B.6.1A/Z50B.8.1A 

               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18

19
20
21
22
23
24
25
26
27
28
29

GB5785-86
GB859-87
Z50B.6.1-1
Z50B.6.1-2
Z50B.6.1.1A
GB9877.1-98
GB5785-86
GB93-87
GB9877.1-98
Z50B.6.1-24
Z50B.6.1-23
GB/T297-1994
Z50B.6.1-22
Z50B.6.1-25
Z50B.6.1-20
GB/T297-1994
Z50B.6.1-21
Z50B.6.1-18A
Z50B.8.1-2A
GB283-87
Z50B.6.1-3
GB827-86
Z50B.6.1-19
Z50B.6.1.2
Z50B.6.1-4
ZB6173-86
GB889-86
GB848-85
Z50B.6.1-13
Z50B.6.1-5

 M14×1.5×55-10.9
 14

 B80×100×12B
 M12×1.5×55-10.9
 12
 FB80×100×12 B

 31313

 31314

(

( )

 NVP2307E

 2×5

 M27×2
 M16×1.5
 16

14
14
2
2
2
2
2
2
2
2
2
2
2

2
2

1
1
2
2
8
2
2
2
2
16
16
16
4



61

30 GB297-84

 32216

4



62

Z50B.6.1A/Z50B.8.1A 

               

31
32
33
34
35
36
37

38
39
40
41
42
43
44
45
46
47

Z50B.6.1-12
Z50B.6.1-17
Z50B.6.1-15A
Z50B.6.1-11
Z50B.6.1-10A
Z50B.6.1-16
Z50B.6.1-9A
Z50B.8.1-1A
Z50B.6.1-26
Z50B.6.1-8
GB848-85
GB889-86
Z50B.6.1-14
Z50B.6.1-6
GB855-88
GB5786-86
GB855-88
GB5780-86

 14
 M14×1.5-4H

  10
  M10×1×20
  22
  M22×80

2
4
4
8
8
2
1
1
24
2
24
24
4
4
4
4
8
8



63

Z30.6.3B   



64

Z30.6.3B   
               

1
2
3
4

7
8
9
10
11
12
13
14
15

19

Z30.6.3B-8
Z30.6.3B-1
B-Q020710-00028
Z30.6.3B-3

Z30.6.3B-4
Z30.6.3.2
B-G008180-00032
Z30.6.3-6
Z30.6.3B-5
Z30.6.3B-10
Z50F.6-36
Z30.6.3-9
B-G000910-00018

Z30.6.3-7

.

 20×2.4

  M6×8ZnD

2×16ZnD

6
24
24
24

24
12
24
6
6
12
12
12
12

24



65

Z50B.6.2A        



66

Z50B.6.2A        
               

1
2
3
4

19.50/2.5-25-01

19.50/2.5-25-03
19.50/2.5-25-02

 23.5-25-16PR
4
4
4
4



67

Z50E.7C   



68

Z50E.7C   
               

1
2
3
4
5
6

7

GB/T93-1987
GB/T5785-1986
GB/T1152-1989
GB1235-1976
T160A
Z50B.5B-4-2
50L2620005
Z5G .1.2
Z5G(CS)1A.4-01-03
Z50B.5B.4-2
Z50E.7C-1

 12
 M12×1.25×55-10.9 ZnD
 M10×1

  75 × 5.7

16
16
1
1
2
1
1
1
1
1
1



69

Z50E.9   



70

Z50E.9   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23

24
25
26
27
28
29

Z30.9.1-1
JB1002-77
Z50B.9.2A.4
GB1235-76
Z50B.9.2A.3
130-3506040A
JB1002-77
GB93-87
GB41-86
GB5781-86
Z50B.9.2-2
120-35006085A4
Z50B.9A.1A.3
FXS-1
JB1002-77
Z30.9.4-1
DH/G18
GB1235-76
DH/G18
SN150
Z50B.9.2-3
GB1235-76
Z50B.9.2.2

GB1235-76
Z50B.9.2.4
Z30.9.3-1
JB1002-77
Z30.9.3-1
JB1002-77

 M12×1.25×32
 12

 8×1.9

 12
 12
 M12 ZnD
 M12×30 ZnD

 18

 1200 L=1200
 14×2.4

 900 L=900

 14×2.4

 14×2.4

10
8
2
2
1
2
2
4
4
4
2
2
1
2
4
4
1
13
1
1
1
4
1

4
1
1
2
2
4



71

30 Z50B.9.6A.2  22

 22

1



72

Z50E.9   
               

31
32
33
34
35
36
37
38
39
40
41
42
43
46
47
48

49
50
52
54
55

56
57
58
59
60

Z30.9.1-1

JB1002-77
JB1002-77
Z50B.9A.1.1G
GB5781-86
GB93-87
GB93-87
GB6170-86
GB5781-86
DF-2
GB1235-76
Z50B.9.2.3
Z30.9.3-1
JB1002-77
T138B

CL60
Z50B.9.2A-1
DH/G18
GB1235-76
Z50B.9.6.2

Z50B.9A.1A.1
Z50B.9aA.1A.2
DH/G18
Z50B.9A.1.5
JB1002-77

 M12×1.25×32

 12
 22

 M12×25
 12
 8
 M8
 M8×16 ZnD

 11×1.9

 22

 2100 L=2100
 14×2.4

                            

 1200 L=1200

 18

6

12
1
1
17
20
2
2
2
1
2
1
1
2
1

1
1
2
1
1

1
2
2
1
4



73

Z50E.9   
               

61
62

63
64
65
66

DH/G18
Z50B.9.6A.1

DHF-8
Z50B.9.2A.2
Z50B.9.2A-5
Z50B.9.2.1

 450 L=450 4
1

2
1
1
1



74

Z50E.10B   . 



75

Z50E.10B   . 
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20

Z50E.10.1
Z50E.10B.1
Z30.10.1-1
Z50E.10B.2
Z50E.10B-1
Z50E.10B.3
Z50E.10B.4
Z50B.10A-3
Z50E.10B.5
Z50E.10N.1
Z30.14-8
Z50B.10-5
Z50B.10.13
Z50B.10A.5
Z50E.10B-2
Z50E.10B-3
Z50B.10.7
Z50E.10N.2
Z20E.10B.6
Z50E.10N-1

51 L=370

1
1
2
1
2
1
1
2
1
1
1
2
1
1
1
1
1
1
1
1



76

Z50E.10B   . 
               

,11

,12

,13

,14

,15

,16

,17

,18

,19

,20

,21

,22

,23

,24

,25

B-J010020-00007
B-J010020-00006
B-Q020710-0003
9
W-19-00020

B-J010020-00001
B-Q020750-0002
5
B-Q020710-0002
8
W-07-00065
B-G057820-0000
3
B-G000930-0000
1
B-Q020750-0002
7
W-01-00033

B-G057830-0003
4
B-G000930-0000
3
B-Q020710-0007
7
B-J088700-00018
B-Q020750-0007
3
B-Q020710-0005

 22
 20

 24×2.4
 BZZ5-E1000+FKB-3020

 10
 16 -1000

 20×2.4
 YXL-F250L-N7

 M10×110  ZnD
 10

 16 -1150
CBGj2063/1016-XF

 ( )
 M12×30  ZnD
 12

 54×3.5
 d70

 25I-3500
 32×3.1

 25I-2200
 12

 11×1.9
 19 -500

 33
 A 44.1/21

 44×3.5
 M10×35-10.9  ZnD

 A 38.9/35
 38×3.5

2
4
4
1

1
2
8
1
2
18
2
1

4
4
1
4
1
4
1
5
2
1
1
6
3
16
2
1



77

,26

,27

,28

0
B-Q020750-0006
4
B-J010020-00002
B-Q020710-0000
6
B-Q020750-0005
0
B-J010020-00011
B-Q020140-0000
3
B-Q020710-0006
6
B-G057830-0001
1
B-G020140-0000
2
B-G020710-0006
0



78

Z50E.10B.5   
Z50E.10B.6   



79

Z50E.10B.5   
Z50E.10B.6   

               

1
2

3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19

Z50E.10N.3-2
Z50E.10B.5.1
Z50E.10B.6.1
B-G10708A-00003
B-Q020710-00057
W-15-00067
Z50B.10.12A-4
Z50B.10.12A-5
B-G094570-00004
B-G000910-00053
Z50B.10.12A-1
B-Q020710-00072
B-G10708C-00009
B-Q020710-00105
Z15.14.10-5
Z15.14.10-6
B-G00894A-00022
Z50E.10N.3-1
B-G091630-00003
B-G00893A-00010

 Y45×60×12.5 .

 36×3.5
 0900S-55044
 90×15×3

 M36×2
 5×60 ZnD

 50×3.1
 FC45×53×5
 95×5.7

 80

 GE40ES

 62

1
1
1
2
1
1
2
1
1
1
1
1
1
2
1
1
1
1
1
2



80

Z50B.11   



81

Z50B.11   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

GB41-86
GB93-87
GB97.2-85
GB5781-86
Z50B.11.2
Z30.11B.3.1
Z30.11B.3-1
Z30.11B.3-2
Z30.11B.3.2
Z30.11B.3-3
Z30.11B-8
GB97.2-85
GB91-86
GB91-86
GB97.2-85
Z30.11B.3-5
Z50B.11.1-7
GB6170-86
Z50B.11.1-1
Z50B.11.1-2
GB6172-86
Z50B.11.1-4
Z50B.11.1-6
Z50B.11-3
Z50B.11.1-5
GB5781-86
Z50B.11-5
Z30.11B.2.3
Z30.11B.2-4
GB6184-86

 M12 ZnD
 12 YH
 12 ZnD
 M12×25 ZnD

 10 ZnD
 3×20
 3×25

 12 ZnD

 M6 ZnD

 M14 ZnD

3.5 1×37

 M12×30 ZnD

 M10

4
11
4
4
1
1
1
1
1
1
3
3
3
1
1
1
1
3
2
2
4
1
1
1
2
2
1
1
1
2



82

Z50B.11   
               

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
90
50
51
52
53
54
55
56

Z30.11B.2.3-1
Z30.11B.2-10
Z30.11B.2-2
Z30.11B.2-6
Z50B.11.3.2
Z50B.11-7
Z50B.11.3.1
Z30.11B.2-1
Z30.11B.2-9
GB5783-86
Z50B.11-1
Z50B.11-6
Z50B.11-2
GB5782-86
JB/ZQ3756-86
Z30.11B.2-3
Z30.11B.2-7
Z30.11B.2-8
Z30.11B.2-5
GB861.1-87
GB6170-86
GB119-76
GB91-86
Z50B.11-4
GB93-87
GB5783-86

 M12×65 ZnD

 M14×40.10.9 ZnD
 14

 5
 M5

 4×22
 1.5×10

 16
 M16×35 ZnD

1
1
1
1
1
1
1
1
1
1
1

1
5
5
1
1
1
1
2
2
1
1
1
4
4



83

Z50E.32   



84

Z50E.32   
               

1
2
3
4
5
7
8
9
10
11
12
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

B-J07940A-00001
B-G057830-00066
B-Q01201E-00003
Z50B.12.13A
B-Q01201C-00008
Z50B.12B.2
B-G00097B-00004
B-G057830-00028
B-G000930-00003
Z50B.12.1A
B-G057820-00144
B-G00097B-00014
B-G000930-00010
B-G061700-00023
Z50E.32.1
B-G057830-00066
B-Q01201E-00003
Z50E.12Q.2
B-G000730-00003
Z50B.12-11
B-G057830-00043
B-G000930-00003
B-G10708C-00006
Z50B.12-2
B-G091630-00007
Z50B.12A-5
Z50E.12Q-1
B-G10708C-00007

 M10×1
 M16×25 ZnD
 16

 97×150
 95×280A

 12ZnD
 M12×20 ZnD
 12

 M24×280-10.9ZnD
 24ZnD
 24
 M24 ZnD

 M16×25 ZnD
 16

 M6×8

 M12×45 ZnD
 12

 FB80×90×7

 GE80ES

11
5
5
2
4
1
4
8
4
1
16
48
24
48
1
1
1
1
8
2
24
24
2
1
2
1
1
2



85

 FB90×100×7



86

Z50E.32   
               

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48

Z50B.12-6
Z50B.12A-4
Z50E.12Q-3
Z50E.12Q-2
B-Q020490-00003
B-G057820-00042
Z50E.12Q-7
B-G000910-00068
B-Q01201E-00001
Z50B.12B.3
Z50B.12-9
Z50B.12.12A
B-G057830-00057
B-G000930-00005
Z50B.12.2E.2
Z50E.12Q-4
Z50E.12Q-5
Z50E.12Q-6

 12
 M12×55 10.9 ZnD

 8×90 ZnD
 12

 40×132A

 M14×35 ZnD
 14

 t0.5

 t1

 t0.2

1
1
1
1
8
8
1
1
4
2
2
2
2
2
1
4
2
4



87

Z50E.32



88

Z50E.32
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19

Z50E.12U.1
Z50E.12F.6B
Z50E.12F.5B
Z50E.12F-1
B-Q020490-00011
B-G057830-00100
Z50E.12F.5.2
Z50E.12F.5-1
B-G061700-00003
Z50E.12U.2
Z50B.12.6
Z50B.12.7
Z50B.12.5
Z50B.12-10
Z50B.12B.3
Z50B.12.15
Z50B.12.16
Z50B.12A.3
Z50B.12.14

 20
 M20×55 ZnD

 M10 ZnD

 40×132A

1
1
1
4
8
8
2
4
16
1
1
1
2
2
2
1
1
1
1



89

Z50E.13P(R&S)+Z50E.31.GO



90

Z50E.13P(R&S)+Z50E.31.GO

               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18

19
20
21
22
23
24
25
26
27

Z50B.13-6
Z50B.13-11A
B-G051750-000
01
B-Q020490-000
15
Z50B.13-16
Z50B.13-14
Z50B.13-13
Z50B.13-9
Z50B.13-8
Z50B.13-5
Z50B.13-10A
Z50E.31.GO.1
Z50B.13-4
Z50B.13-12A
B-J07940A-0000
1
Z50B.13-1
Z50B.13.1
Z50E.13P.2.1
Z50E.13R.2.1
Z50B.13.8-2A
Z50B.13.8-1A
B-G057830-000
66
B-Q01201E-000
03
Z50E.13N.3

 M24 ZnD
 24

 M10×1
 115
 100

 M16×25 ZnD
 16

 110

2
1
2
2
4
2
2
5
5
12
5
1
12
1
8
8
8

1(*)
1(#$)

1
1
8
8
2
2
1
1
12



91

Z50E.13P.1-1
Z50E.13N.5
Z50B.13.4
Z50B.13.13



92

Z50E.13P(R&S)+Z50E.31.GO

               

28
29
30
31

32
33
34
35
36
37
38
39
40

Z50B.13.7-3A
Z50B.13.5A
Z50B.13.7-1A
Z50E.13P.1.1
Z50E.13R.1.1
Z50E.13S.1.1
Z50E.13N.6
Z50B.13.12
Z50E.13P.3-1
Z50B.13.9-1A
Z50B.13.11
Z50B.13-15
Z50B.13-2
Z50B.13-3
Z50E.13N.4

 115

 135

2
2
2

1(*)
1(#)
1($)

1
2
1
2
2
3
3
3
2

:
 (*) 

 Z50E.13P;
 (#) 

Z50E.13R  3,35 ;
 ($) 

Z50E.13S  3,60 ;
.



93

Z50E.34F    



94

Z50E.34F    
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50E.34.1
Z50E.34.2
Z50E.14N.3
Z50E.14-1
Z30.14-8
Z50E.14N.4
Z50B.14-1
Z50E.14N.5
Z50B.14.4
Z50B.14.6
Z50B.14.5
Z50B.14.7
Z50E.14U.3
Z50B.14.26
Z50B.14.27
Z50E.14U.4
Z50E.14U.5
Z50E.14U.6
Z50B.14.23
Z50B.14.9B
Z50E.34F.1
Z50E.34F.4
Z50E.34F.5
Z50E.14.13
Z50E.14.14
Z50B.14-3
Z50B.14-4
Z50E.14.15
Z50E.14.16
Z50E.14.17

. 

51
51 L=370

2C

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
2
1
2
2
2
1
1
1
1
2
2
1
1
1



95

Z50E.34F    
               

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45

Z50E.14.18
Z50E.14N.6
Z50E.14.20
Z50E.34F.2
Z50B.14.19
Z50E.14-3
Z50E.14-4
Z50B.14.24.4
Z50E.14-5
Z50E.34F.3
Z50E.34.4
Z50B.12.1.A
Z50E.14-6
Z50B.14.31
Z30.4M-2

1
1
1
1
1
2
1
2
1
1
1
1
1
1
11



96

Z50E.34F    
               

B-G057830-0013
9
B-G000930-0001
7
B-Q020710-0008
5
B-G057830-0001
0
B-G000930-0000
1
B-Q020710-0009
9
B-J088700-00018
B-G057830-0005
3
B-Q020490-0000
5
B-G000930-0000
3
W-01-00021
B-J010000-00002
B-J010020-00003
B-Q020710-0005
7
B-G061700-0000
7
B-G057830-0000
9
B-Q020710-0006
6

 M8×20 ZnD
 8

 65×3.1
 M10×30 ZnD
 10

 80×3.1
 d70
 M14×30 ZnD
 14
 12

 CBGj3100

 M14×1.5
 14

 36×3.5
 M12  ZnD
 M10×30-10.9 ZnD

 44×3.5
 A 44.1/21

 48×3.5
 M10×25 ZnD

 60×3.1
 11×1.9

 31.5-930
 M12×25  ZnD

 19-1100
 M8×30-10.9 ZnD

 A 32.6/35
 31×3.5

 A28 U-

4
44
1
26
75
1
8
4
4
22
1
1
16
2
7
44
9
18
2
11
1
14
1
2
4
40
16
8
8
22



97

B-Q020140-0000
3
B-Q020710-0007
1
B-G057830-0000
6
B-Q020710-0008
2
B-Q020710-0000
6
B-Q020190-0001
3
B-Q057830-0003
0
B-Q020160-0000
8
B-G057830-0014
5
B-Q020140-0000
1
B-Q020710-0004
9
B-Q020120-0000
3
B-G061760-0000
1

 M10×1.25 ZnD



98

Z50E.34F    
               

B-Q020490-00001
B-J009990-00003
B-G057820-00014
B-G057820-00017
B-Q020710-00065
W-07-00083
B-G057820-00033
B-G057820-00035
B-Q020490-00003
B-Q020160-00003
B-G057830-00016
B-Q020120-00004
B-G057830-00034
B-Q020710-00077
B-G057820-00043
B-Q020140-00004
B-G057820-00028
B-J009990-00005
B-J010020-00005
B-G057830-00003
W-07-00055
B-G061760-00002
B-G00097B-00004
B-G061700-00003
B-Q020020-00004

 10
 M14.5×1.5×35
 M10×50-10.9 ZnD
 M10×60-10.9 ZnD

 41×3.5
 D32 -YL20

 M12×150-10.9 ZnD
 M12×170-10.9 ZnD
 12

 31.5-1250
 M12×45ZnD

 A34 U-

 M12×30 ZnD
 54×3.5

 M12×55 ZnD
 A 51.2/21

 M12×110-10.9 ZnD
 M18×1.5×38
 18
 M10×20 ZnD

 DJS2-UX/UU
 M12×1.25 ZnD
 12ZnD
 M10 ZnD

 90

52
3
8
16
9
1
1
2
12
2
4
3
12
4
2
2
4
1
2
8
1
2
4
6
4



99

Z50E.34G  
 ( )



100

Z50E.34G  
 ( )

               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

Z50B.14A.4
SY.4.21-22
JB/ZQ3772-86
JB/ZQ3799.2-86
GB5782-86
JB/ZQ3782-86
GB1235-76
GB93-87
JB/ZQ3797.2-86
ZF-17
Z50B.14A.3
GB5782-86
GB5782-86
GB1235-76
JB/ZQ3756-86
JB/ZQ3779-86
GB6176-86
GB5780-86
Z50B.14A-5
Z50B.14A-6
Z50B.14A.2
Z50B.14A.1
Z50B.14A.9
Z50B.14A-1
Z50B.14A-2
Z50B.14A-3
GB5780-86
GB5780-86

 20.7×3.4
 19-900

 M8×30·10.9 ZnD
 A 32.6/35

 31×3.5

 8
 16-940

 M8×40.10.9 ZnD
 M8×55.10.9 ZnD

 36×3.5  

 10
 A28 U-

 M10×1.25
 M10×40

 M10×20
 M10×75

2
4
4
2
32
16
8
40
4
2
1
4
4
2
23
4
8
3
3
3
1
4
2
4
8
8
4
4



101

Z50E.34G  
 ( )

               

29
30
31
32
33
34
35

36

37

38
39
40
41

Z50B.14A.5
Z50B.14A.6
Z50B.14A-7
GB5780-86
JB/ZQ3800.2-86
GB5780-86
Z50B.14A-4

Z50B.14A.2

Z50B.14A.3

Q/CL1201.6-88
Q/CL1201.1-88
Q/CL1201.6-88
Q/CL1201.6-88

 M10×70
 19-1000

 M10×25

: 

 75×295 m-155
 75×55A

 50 × 145 m-85

 50×245 m-135

, 

1
1
4
4
2
4
2

1

1
2
4
2
2



102

Z50B.14A.4   



103

Z50B.14A.4   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18

Z50B.14A.4-1
Z50B.14A.4.1
B-G10708C-00010
Z50B.14A.4-2
B-G10708A-00007
W-15-00079
B-G00894A-00022
Z50B.14A.4-3
Z50B.14A.4-4
B-Q020711-00001
B-Q020710-00004
Z50B.14A.4-5
Z50B.14A.4-6
W-15-00072
Z50B.14A.4-7
Z50B.14A.4.3
Z50B.14A.4.2
Z50B.14A.4-8

 FC50×58×5

 Y50×65×12.5 .

 0500/S-55013
 80

 A105×95
 105×5.7

 1000/S-55044

1
1
1
2
1
1
1
1
1
1
1
1
3
1
1
1
1
1



104

Z50E.34F.1  



105

Z50E.34F.1  
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16

Z50E.34F.1.1
B-G10708C-00014
B-G010710-00002
B-G10708A-00010
Z50B.14.10B-1
B-Q020710-00108
B-G000930-00006
B-G057850-00021
B-Q020710-00085
Z50B.14.10B-2
Z50B.14.10B-4
W-15-00076
Z50B.14.10B-3
Z50B.14.10-6
Z50B.14.10B.2
Z50B.14.10-7

 FC90×110×6
 100×5.7
 Y90×105×12.5 .

 160×5.7
 16
 M16×1.5×55ZnD

 65×3.1

 1600/S-55044

1
1
1
2
1
6
12
12
1
1
2
1
1
1
1
1



106

Z50E.34F.2    



107

Z50E.34F.2    
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21

W-15-00077
B-Q03452A-00018
Z50B.14.18A-5
Z50B.14.18A-4
Z50B.14.18A-6
Z50B.14.18A-7
Z50E.34F.2.1
Z50B.14.18A-1A
Z50E.14U.1.1
B-G10708C-00013
Z50B.14.18A-2
B-G10708A-00011
W-15-00083
Z50B.14.18B-1
B-Q03452A-00004
Z50B.14.18A-8A
B-G057850-00040
B-G000930-00010
B-Q020710-00031
B-G057850-00037
Z50B.13.13

 1000/S-55044

 90×5.3

 FC90×100×6

 Y90×110×16 .

 0900/S-55013

 170×5.3

M24×2×90 10.9 ZnD
 24

 205×5.7
 M24×2×105-10.9 ZnD

1
1
1
4
1
1
1
1
1
1
1
2
1
1
1
1
8
10
1
2
2



108

Z50E.34.1   . 



109

Z50E.34.1   . 
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

Z30.14.8-18
Z30.14.8-19
Z50E.34.1.2
B-Q020710-00035
Z50E.14.1.3
Z50E.14.1-3
Z50E.14.1-2
Z50E.14.1-1
B-Q020710-00090
W-15-00168
Z50B.14.21-4
Z50B.14.21-5
B-G00097B-00023
W-15-00064
B-Q020710-00023
B-G057830-00137
B-G000930-00017
Z30.14.8-7
B-Q020710-00030
Z50E.14N.1-1
Z30.14.8-5
B-Q020710-00027
Z30.14.8.3
Z50B.14.21-3
Z30.14.8-3
B-G061720-00002
B-Q020710-00014
Z50B.14.21-4
Z30.14.8-2

 230×5.7

 70×3.1
 YWZ-127

 8 ZnD
 QUQ2.5-A

 16×2.4
 M8×16 ZnD
 8

 200×5.7

 185×5.7

 M12 ZnD
 130×5.7

1
1
1
1
1
1
1
1
1
1
2
1
8
1
1
20
12
1
1
1
1
1
1
1
1
1
1
1
1



110

30
31
32
33

Z30.14.8-1
B-G000910-00020
B-G061780-00002
Z50E.34.1.1

 2×20
 M10 ZnD

1
1
1
1



111

Z50B.15   



112

Z50B.15   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50B.14.24.4
Z50B.15-1
Z50B.15-2
GB5780-86
GB95-85
Z50B.15-6
GB93-87
GB41-86
Z50B.15-9
Z50B.15-7
GB1096-79
Z50B.15-8
GB5781-86
Z50B.15.7
Z50B.15.1
GB91-86
GB848-85
GB882-86
Z50B.15-5
GB5781-86
GB41-86
GB41-86
GB95-86
Z50B.15.4
Z50B.15.3
Z50B.15.2
Z50B.15-3
Z50B.15.8
Z50B.15.6A
Z50B.15.5A

 M10×100
 10

 10
 M10

 A5×20

 M10×25

 3.2×1.6
 8
 B8×24

 M8×25
 M8
 M14
 14

2
1
1
2
4
1
4
6
1
1
2
2
2
1
1
6
6
6
2
2
2
1
1
1
1
1
1
1
1
1



113

Z50E.16Q   



114

Z50E.16Q   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17

Z50E.16Q.1.1
Z50E.16F.4-2
Z30.16.4F.2
Z50E.16F.4-8
B-J010020-00004
B-G008250-00005
Z30.16.4E-12
Z30.16.4E-11
Z30.16.4E.2
Z50E.16F.4-5
Z50E.16F.4-4
Z50E.16F.4-6
B-G057830-00139
B-G00097B-00023
Z50E.16Q.3
Z40E.16F.6
Z50E.16Q.1.2

 16
 M16 ZnD

 M8×20 ZnD
 8 ZnD

1
1
1
4
4
4
1
1
1
1
2
8
16
16
1
15
1



115

Z50E.16Q  



116

Z50E.16Q  
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50E.16.3
B-G057830-00030
B-G000930-00003
B-G00097B-00004
B-G00097B-00023
B-G057830-00139
Z30E.16.1
Z50B.16.5
Z30.16M.2
Z30.16-2
Z30.16-1
B-G057830-00146
B-G061700-00036
B-G057830-00037
Z50B.16.3
Z30.16.9
Z50B.16.6
Z40E.16-1
B-G057820-00064
B-G000930-00005
B-G00097B-00006
B-G057830-00116
B-G057830-00015
Z50E.16-2
Z50E.16Q-1
Z50E.16Q.2
Z40E.16-4
Z50B.16.7
B-G057830-00137
B-G057830-00165

 M12×25 ZnD
 12
 12 ZnD
 8 ZnD
 M8×20 ZnD

 M8×30 ZnD
 M8 ZnD
 M12×35 ZnD

 M14×55 ZnD
 14
 14 ZnD
 M24×65 ZnD
 24

 M8×16 ZnD

1
12
24
28
20
15
1
1
1
1
1
2
2
16
1
1
1
2
8
8
8
4
4
2
1
1
2
1
2
1



117

 M8×10 ZnD



118

Z50E.16Q  
               

31
32
33
34
35

W-09-00044
B-G057830-00015
B-G00097B-00002
B-G000930-00001
B-G061700-00003

 823
 M10×40 ZnD
 10 ZnD
 10
 M10 ZnD

1
4
7
4
4



119

Z50E.37   



120

Z50E.37   
               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Z50B.17.3.2.2
JY2307
Z50E.37.1.1
GB/T91-1986
GB/T97.2-1985
GB/T882-1986
Z40E.17F.1.5
Z50E.37.1.2
Z50E.37.1.4
GB/T5783-1986
NBS504
Z50E.37.1.3
Z50E.37.3
Z50E.37.2
Z50B.17.6
Z30.17.13
GB/T5783-1986
GB/93-1987
Z50B.17.1A
Z50B.17.2A
Z50E.37-2
GB/T827-1986
Z30.17.13
GB/T97.2-1985
GB/T5783-1986
Z50B.17.7
GB/T5783-1986
Z50E.37-1
Z50B.17.5A
GB/T6170-1986

 3.2×16 ZnD
 8 ZnD
 B8×40 ZnD

 M8×16 ZnD

 M12×25 ZnD
 12

 3×10

 12 ZnD
 M8×25 ZnD

 M12×30 ZnD

 M12 ZnD

4
2
1
8
22
4
2
2
1
20
2
1
2
1
1
2
29
39
1
1
1
4
1
32
12
1
12
2
2
4



121

Z50E.37   
               

31
32
33
34
35
36

GB/T5781-1986
Z50B.17.5A.1
GB/T827-1986
GB/T827-1986
Z50E.37.5
Z50E.37.4

 M12×45 ZnD

 10×38
 6×20

2
2
8
10
1
1



122

Z50E.18  

               

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

W-06-00086
W-06-00154
W-11-00044
W-06-00008
W-06-00004
W-06-00002
W-06-00155
W-06-00053
W-06-00057
W-06-00044
W-06-00079
W-11-00031
W-11-00042
W-11-00047
W-06-00056
W-06-00021
W-06-00071
W-06-00090
W-06-00043
W-06-00015
W-06-00041
W-05-00020
W-05-00028
W-05-00015
W-09-00037
W-09-00003
W-05-00009

/20A   20A

/20A  20A

1
1
2
1
1
1
3
5
2
1
1
1
2
1
1
1
1
1
1
1
1
1
1
2
2
2
1
1
2



123

Z50E.18  

               

30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49

W-05-00002
W-11-00009
W-11-00050
W-06-00047
W-11-00003
W-06-00048
W-11-00010
W-06-00039
W-11-00054

W-06-00093

W-05-00024

1
2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
2



124

Z50B.31.G1   



125

Z50B.31.G1   
               

1
2
3
4
5
6
7
8
9
10
11
12
13

B-G057830-00064
B-Q01201E-00004
B-J07940A-00001
Z50B.31.G1.4
B-Q01201B-00008
Z50B.31.G1.1
Z50F.31.G2.1A
Z50B.31.G1.3
B-Q01201E-00002
B-G057830-00025
Z50B.31.G1.1
Z50F.31.G2.1
Z50B.31.G1.5

 M16×25 ZnD
 16
 M10×1
 75×290A

 90
 75×55A

 50×145A
 12
 M12×16 ZnD

 50×245A

2
2
6
2
4
4
1
2
4
4
1
1
2



126

  



127

      


